Mathematics I Primary Education Year 2016-2017

Practice 1.1 (September 20)]

You have to fill this poll https://goo.gl/forms/tacaUUBDWUVVTVIil| before Monday 19, 10 pm.
Problems 6 and 7 should be done after the theory class next Monday.

1.

10.

In a given number system, digits from 1 to 9 are represented by symbols «, 3, v, §, €, (, 1, ¢,
. The symbols for powers of 10 are I" (10), A (100), A (1000) y IT (10000). Write the number
43867 in an aditive system and in an aditive-multiplicative system.

. Find all 5-digit palindromic numbers in base 3 that are even numbers. (A number is palin-

dromic if when read left to right is the same as when read right to left)

. Express in base 10 the biggest number that has 8 digits in base 2.

. Count by twos in bse 5, from 315 to 112(5. (Nov 2013)

a) Write 354(; in base 10. b) Write 92 in base 3.

(In base 16, we use letters A, B, C, D, E, F to represent numbers 10, ..., 15).

Fill in the boxes in the following base 8 addition.

. In which base b the number 217 is written as 14,7

. Two cyclists are on two villages, A and B, at distance 112 km. They start moving, to meet in

a point in between A and B. They start cycling at noon, the cyclist at A moves at a constat
speed of 18 km/h, and the cyclist at B moves at a constant speed of 22 km/h. When do they
meet? (You have to solve this problem without algebraic methods, and give the answer in
hours, minutes and seconds). (Nov 2013)

Choose a 2-digit number and do this: if the number is odd, add one; if the number is even,
divide by two. Now, iterate this process till you get 1. For instance if we start with 35 the
sequence is

35—-+36—-18—-9—-10—-5—-6—-3—-4—>2—>1

What 2-digit number gives the longest sequence?

LAll problems should be made without using a calculator. In the future, problems meant to be solved with the
help of a calculator will be marked with the symbol (©.
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